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2. (a) Solve the system of equations :
3x - 4y - z = 3
2x - ly - 3z = 5

4x + 2y + 3z = 8.

(b) Find the inverse of

I. (a) Without expanding the determinant,solve

Note :- Attempt any FIVE questions. All questions carry
equal marks.
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(b) Find the :~ when sin y + x2 + 4y = cos x.

5. (a) Find the :~ if x = t2 +1, Y= t3-1.

Find fog, g 0 f, f 0 f, gog.

4. (a) State and prove de-Morgan's law.

(b) Let f, g: R ~ R be two functions defined by
f (x) = x2 - 1 and g(x) = 3x + 1.

.. .. x3 - x2 +4x + 7
(b) Fmd the domam and range of 3x+11

(Bu C), (A (l B), (A (l C) and A-B.

Find

3. (a) Let A = {2, 4, 6, 8},

B = {1, 2, 4, 5} and

C={1,3,4,6}.

[1 -2]
2 1·

\.

(b) Find the Eigen values and vectors of the
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An urn is chosen at random and a ball is drawn.
The ball drawn is red. Find the probability that the
ball is drawn from urn 2 or urn 3.

Unit 3 : 1 red and 8 black balls.

Unit 2 : 2 red and 6 black balls

Unit 1 : 6 red and 4 black balls

(b) Three urns are given, each containingred and black
balls as:

8. (a) The probability that Ram gets scholarship is
0.5 and that Shayam will get is 0.8. What is the
probability that at least one of them gets the
scholarhip ?

(b) 4 coins are tossed. Find the probability of getting at
least one head.

7. (a) Two dice are thrown simultaneously. Find the
probability of getting six as a product.

It
"2 .

J SIn X d. x
SIn x +cos xo

(b) Integrate

6. (a) Integrate J eXsin x dx

,
•
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